Computer TURING MACHINE version D

[bookmark: _GoBack]1. If the machine is at B: 000100, what's next?
	
	a) B: 000110

	
	b) A: 000110

	
	c) A: 001100

	
	d) B: 000110



2. If the machine is at A: 001110, what's next?
	
	a) A: 011110

	
	b) H: 011110

	
	c) H: 011110

	
	d) B: 011110



3. If the machine is at B: 011110, what's next?
	
	a) H: 011110

	
	b) A: 011110

	
	c) B: 011110

	
	d) H: 011110



4. If the machine is at B: 000110 , what's next?
	
	a) A: 001110

	
	b) A: 001110

	
	c) B: 001110

	
	d) B: 000111



5. If the machine is at A: 000110, what's next?
	
	a) B: 000110

	
	b) A: 000110

	
	c) B: 001100

	
	d) A: 001110



6. If the machine is at A: 000000, what's next?
	
	a) A: 000100

	
	b) B: 000010

	
	c) B: 000100

	
	d) A: 000010
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